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B T % 4 HRHE B X 3 8 I5EER | 15~645% | 65 E
a 7 30,838 96,634 48,781 47,853 16,665 73,031 6,938
b I T H 617 1,895 941 954 311 | - 1,456 128
o = T H 338 1,072 539 533 181 815 76
o = T H 356 1,067 521 536 141 828 88
% -, B T B 330 962 468 494 146 755 61
% » & = T H 586 1,847 944 903 315 1,417 115
% » & =T B 264 841 418 423 132 648 61
# » M T H 247 797 399 398 133 607 57
% » & A T B 455 1,404 688 716 212 1,106 86
% » & AT H 205 648 340 308 135 475 38
% » &t T H 403 1,293 650 643 9234 971 88
& » & /AT H 345 1,175 569 606 229 890 56
& » & LT H 406 1,364 701 663 214 1,047 103
e » o —TH 199 595 309 286 93 468 34
e BH_TH 853 2,756 1,423 1,333 601 1,987 168
Hé B =TH 547 1,842 921 921 467 1,283 92
B 45— T8H 378 1,151 592 559 169 870 112
Eg A _TH 241 696 366 330 128 515 53
HEg & =THEH 138 397 208 194 62 294 41
Eé 2N TH 341 1,166 589 577 248 877 41
Liig Py 694 1,809 898 911 280 1,312 217
HEHE—TH 174 548 283 265 88 393 67
HEHL_-TBH 285 809 416 393 119 602 88
RFEHAL=TH 329 1,078 552 526 174 832 72
HE LM TH 436 1,385 706 679 219 1,042 124
REHAAHTH 360 1,071 563 508 180 821 70
REHALRTH 385 1,268 643 625 195 997 | . 76
FEHALLETH 522 1,535 778 757 207 1,174 154
B B 4 1,495 4,970 2,466 2,504 918 3,817 235

A R 325 856 445 411 68| 705 83

R 548 1,871 931 940 381 1,311 179

R — T H 374 1,095 552 543 182 836 77
R Z T H 554 1,697 852 845 276 1,290 131
bR =T H 548 1,780 887 893 309 1,306 165
R M T H 383 1,262 647 615 201 970 91
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B T % 4 HHEH & X 5 x 15BERH | 156~645% | 65Ul L
R — T B 825 1,048 515 533 238 766 44
bR =T H 443 1,510 753 757 304 1,117 89
Jt # R =T H 235 752 404 348 145 581 26
) =1 1,401 4,653 2,331 2,322 793 3,464 396
By E — T8 409 1,412 725 687 237 1,091 84
WM E T H 419 1,433 733 700 275 1,082 76
B E =TH 447 1,498 753 745 254 1,155 89
B #ENTH 753 2,207 1,141 1,066 353 1,677 177
BwE AT H 335 994 504 490 185 725 84
B E AT H 214 702 339 363 142 510 50
A =3 B 383 1,140 574 566 224 836 80
ok — T H 229 696 347 349 92 541 63
ok = T H 562 1,697 853 844 310 1,270 117
2 B — T B 194 532 274 258 94 391 47
¥ M — T H 527 1,457 735 792 199 1,110 148
R A BE T H 359 1,207 632 575 189 956 62
W e E - T B 236 805 387 418 144 614 47
R M E =T B 431 1.509 766 743 210 1,196 103
E M E M T H 413 1,371 692 679 156 1,135 80
K # EATBH 632 2,046 1,012 1,034 316 1,586 144
B HE ~NTH 168 510 255 255 71 403 36
< EWL—TH 556 1,811 909 902 406 1,321 84
C R EIWTH 416 1,134 533 601 169 891 74
KR ¥FIL=TH 383 1,131 591 540 181 883 67
K R ¥ bW TH 354 910 486 424 168 683 59
K R EWAHTH 396 1,358 688 870 398 919 41
BB ¥ H 29 90 49 41 14 71 5
R 52 734 2,426 1,245 1,181 455 1,797 174
& p=:d i} 236 753 391 362 111 566 76
bR ME—TH 178 601 303 298 99 439 63
R E_TH 924 691 345 346 105 547 39
mERBK—TH 414 1,228 618 610 194 958 76
mERB_-TH 323 1,039 544 495 189 791 59
B O B H 171 537 265 272 76 409 52
23 F+ R 192 636 334 302 108 482 46
EH IR —-TH 272 740 360 380 88 548 104
EHFARR_TH 158 465 230 235 81 332 52
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B T % 4 HEH B B 5 z 158 K% | 15~645% | 6501 E
EHFIARR=TH 498 1,190 587 603 191 869 130
EH AR RMNTH 396 1,130 564 566 171 872 87
EHBOHhRATH 186 517 261 256 65 385 67
ME A —TH 359 1,098 558 540 189 850 59
MEAXEN_TH 313 960 487 473 144 746 70
Ik 7)) =1 156 441 214 927 79 329 33
5 M = T H 198 577 294 283 105 420 59




